

## Ekman's Paradox

Peter Schroeder-Heister and Luca Tranchini

**Abstract** Prawitz observed that Russell's paradox in naive set theory yields a derivation of absurdity whose reduction sequence loops. Building on this observation, and based on numerous examples, Tennant claimed that this looping feature, or more generally, the fact that derivations of absurdity do not normalize, is characteristic of the paradoxes. Striking results by Ekman show that looping reduction sequences are already obtained in minimal propositional logic, when certain reduction steps, which are *prima facie* plausible, are considered in addition to the standard ones. This shows that the notion of reduction is in need of clarification. Referring to the notion of identity of proofs in general proof theory, we argue that reduction steps should not merely remove redundancies, but must respect the identity of proofs. Consequentially, we propose to modify Tennant's paradoxicality test by basing it on this refined notion of reduction.

### 1 Introduction

Tennant [18], [19], building on ideas of Prawitz [11], proposed the following proof-theoretic test for paradoxicality: a derivation of absurdity is paradoxical whenever each reduction sequence starting from this derivation eventually loops. Results by Ekman [8], [9] show that already minimal propositional logic gives rise to looping reduction sequences if the standard reductions are extended with new reductions that remove redundancies in a way which is *prima facie* very plausible. Based on the discussion on the identity of proofs within general proof theory, we argue that the characterization of reductions as transformations of derivations that remove redundancies is too broad. It needs to be augmented by the feature that the addition of new reduction steps must preserve the identity of proofs established by the standard reductions. This is not the case with the new reductions proposed by Ekman. We conclude

Received February 26, 2014; accepted July 6, 2015

First published online July 18, 2017

2010 Mathematics Subject Classification: Primary 03F05, 03A05; Secondary 00A30

Keywords: paradoxes, Russell's paradox, normalization, general proof theory, identity of proofs

© 2017 by University of Notre Dame 10.1215/00294527-2017-0017

that Tennant's test is too coarse, and we suggest how to improve it by adopting the more restricted notion of reduction.

## 2 The Prawitz–Tennant Analysis of Paradoxes

The natural deduction system for minimal implicational logic consists of the following introduction and elimination rules for implication as its only primitive rules of inference:

$$\frac{[A] \quad B}{A \rightarrow B} (\rightarrow I) \qquad \frac{A \rightarrow B \quad A}{B} (\rightarrow E)$$

Negation is defined as implication of absurdity  $\perp$ ; that is,  $\neg A =_{\text{def}} A \rightarrow \perp$ .

In natural deduction systems, the application in a derivation of an introduction rule followed immediately by an application of the corresponding elimination rule constitutes a redundancy. Redundancies can be eliminated by rearranging the structure of derivations according to certain reductions. The reduction for implication is the following:

$$\frac{\frac{[A] \quad \mathcal{D}}{B} (\rightarrow I)(n) \quad \mathcal{D}'}{A} (\rightarrow E) \quad \triangleright \rightarrow \quad \frac{[A] \quad \mathcal{D}}{B}$$

The occurrence of  $A \rightarrow B$  in the left derivation, which is removed by this reduction step, will be called a *redundant implication formula*. A derivation is normal if and only if it is redundancy-free. In his book on natural deduction, Prawitz [11] showed that all derivations in minimal (as well as intuitionistic and classical) logic can be transformed into normal form.

In Appendix B to this book, Prawitz considered a system for naive set theory obtained by extending the one for minimal logic with an introduction and an elimination rule for formulas of the form  $t \in \{x : A\}$  to express set-theoretical comprehension:

$$\frac{A[t/x]}{t \in \{x : A\}} (\in I) \qquad \frac{t \in \{x : A\}}{A[t/x]} (\in E)$$

where  $A[t/x]$  is the result of substituting  $t$  for  $x$  in  $A$ . Also in this case an application of the introduction rule immediately followed by an application of the corresponding elimination rules constitutes a redundancy which can be eliminated according to the following  $\in$ -reduction:

$$\frac{\frac{\mathcal{D}}{A[t/x]} \quad \frac{A[t/x]}{t \in \{x : A\}}}{A[t/x]} \triangleright \in \quad \frac{\mathcal{D}}{A[t/x]} \quad (1)$$

The occurrence of  $t \in \{x : A\}$ , which is removed by this reduction, will be called a *redundant  $\in$ -formula*.

Taking  $\lambda$  to be  $r \in r$ , where  $r$  is the Russell term  $\{x : x \notin x\}$ , an application of the  $\in$ -introduction rule allows one to pass over from  $\neg\lambda$  to  $\lambda$  and an application of the  $\in$ -elimination rule from  $\lambda$  back to  $\neg\lambda$ . This yields Russell's paradox in the form

of the following derivation of absurdity  $\perp$  in minimal logic extended with  $(\in I)$  and  $(\in E)$ :

$$\begin{array}{c}
 \frac{\frac{1}{\lambda} (\in E)}{\neg\lambda} \quad \frac{1}{\lambda} (\rightarrow E)}{\perp} (\rightarrow I)(1) \quad \frac{\frac{1}{\lambda} (\in E)}{\neg\lambda} \quad \frac{1}{\lambda} (\rightarrow E)}{\perp} (\rightarrow I)(1) \\
 \frac{\perp}{\neg\lambda} (\rightarrow I)(1) \quad \frac{\perp}{\neg\lambda} (\rightarrow I)(1)}{\perp} (\rightarrow E)
 \end{array} \tag{2}$$

Since the encircled occurrence of  $\neg\lambda$  is a redundant implication formula, this derivation is not normal. By applying implication reduction  $\triangleright_{\rightarrow}$  we obtain the following derivation:

$$\begin{array}{c}
 \frac{\frac{1}{\lambda} (\in E)}{\neg\lambda} \quad \frac{1}{\lambda} (\rightarrow E)}{\perp} (\rightarrow I)(1) \quad \frac{\frac{1}{\lambda} (\in E)}{\neg\lambda} \quad \frac{1}{\lambda} (\rightarrow E)}{\perp} (\rightarrow E) \\
 \frac{\perp}{\neg\lambda} (\in I) \quad \frac{\perp}{\neg\lambda} (\in I)}{\perp} (\rightarrow I)(1) \quad \frac{\perp}{\neg\lambda} (\in I) \quad \frac{\perp}{\lambda} (\rightarrow I)(1)}{\perp} (\rightarrow E)
 \end{array}$$

Here the encircled occurrence of  $\lambda$  is a redundant  $\in$ -formula. By applying the  $\in$ -reduction  $\triangleright_{\in}$  we obtain the derivation (2) with which we started. Since at each of the two steps there was only a single possibility to reduce the derivation, all possible ways of reducing the derivation (called *reduction sequences*) get stuck in a loop. Prawitz proposed this to be the distinctive feature of Russell's paradox.

Tennant [18] considered a wide range of examples and showed that all prominent mathematical and logical paradoxes follow this pattern. The steps playing the role of  $(\in I)$  and  $(\in E)$  are called *id est inferences*, as they result from extralogical principles: in the case of Russell's paradox, from set-theoretic comprehension. In the case of the liar paradox, to take another example, analogous *id est inferences* would be based on the observation that a certain sentence says of itself that it is not true. Here, "observation" is not necessarily empirical inspection, but may result from some arithmetical referencing mechanism.<sup>1</sup>

The Prawitz–Tennant analysis of paradoxes is a way to characterize paradoxes by their proof-theoretic behavior, looking at the derivation of absurdity generated. Although this is not per se a solution to the paradoxes, and Tennant (see, e.g., [18], p. 268) stresses it should not be meant as such, it can be naturally turned into a solution, as implicitly suggested by both Prawitz and Tennant and, in a more explicit manner, by the authors [14], [21]. Derivations in natural deduction aim at representing proofs. According to Prawitz and Tennant, however, only normalizable derivations "really" represent proofs. Tennant's moral is thus the following:

The general loss of normalisability [...] is a small price to pay for the protection it gives against paradox itself. Logic plays its role as an instrument of knowledge only insofar as it keeps proofs in sharp focus, through the lens of normality. [18, p. 284]

As the paradoxical derivations of absurdity do not normalize, they are not "real" proofs.

### 3 Ekman's Paradox

Suppose that we have derived  $A$  by means of a derivation  $\mathcal{D}$ . By assuming  $A \rightarrow B$ ,  $\mathcal{D}$  can be extended by  $(\rightarrow E)$  to a derivation of conclusion  $B$ . By further assuming  $B \rightarrow A$  one can conclude  $A$  by another application of  $(\rightarrow E)$ . Ekman [8], [9] observed that a pattern of this kind, though not belonging to the official set of redexes, certainly constitutes a redundancy, which can easily be removed as follows:

$$\frac{\frac{B \rightarrow A \quad \frac{A \rightarrow B \quad A}{B} (\rightarrow E)}{A} (\rightarrow E)}{\mathcal{D}} \triangleright_E \frac{\mathcal{D}}{A} \quad (3)$$

We call this step *Ekman's reduction* and the occurrence of  $B$  in the left derivation, which is removed by Ekman's reduction, an *Ekman-redundant* formula.

Consider now the following derivation:

$$\frac{\frac{\frac{A \rightarrow \neg A \quad \frac{1}{A} (\rightarrow E)}{\neg A} (\rightarrow E) \quad \frac{1}{A} (\rightarrow E)}{\perp} (\rightarrow I)(1) \quad \frac{\frac{A \rightarrow \neg A \quad \frac{1}{A} (\rightarrow E)}{\neg A} (\rightarrow E) \quad \frac{1}{A} (\rightarrow E)}{\perp} (\rightarrow I)(1)}{\textcircled{\neg A}} (\rightarrow E) \quad \frac{\neg A \rightarrow A \quad \frac{\perp}{\neg A} (\rightarrow I)(1)}{A} (\rightarrow E)}{\perp} (\rightarrow E) \quad (4)$$

Since the encircled occurrence of  $\neg A$  is a redundant implication formula, this derivation is not normal. By applying implication reduction  $\triangleright_{\rightarrow}$  we obtain the following derivation:

$$\frac{\frac{\frac{A \rightarrow \neg A \quad \frac{1}{A} (\rightarrow E)}{\neg A} (\rightarrow E) \quad \frac{1}{A} (\rightarrow E)}{\neg A \rightarrow A} (\rightarrow E) \quad \frac{\perp}{\neg A} (\rightarrow I)(1)}{\textcircled{A}} (\rightarrow E) \quad \frac{\frac{A \rightarrow \neg A \quad \frac{1}{A} (\rightarrow E)}{\neg A} (\rightarrow E) \quad \frac{1}{A} (\rightarrow E)}{\perp} (\rightarrow I)(1)}{\neg A \rightarrow A} (\rightarrow E)}{\neg A} (\rightarrow E) \quad \frac{\neg A \rightarrow A \quad \frac{\perp}{\neg A} (\rightarrow I)(1)}{A} (\rightarrow E)}{\perp} (\rightarrow E)$$

Here the encircled occurrence of  $A$  is an Ekman-redundant formula. By applying Ekman's reduction  $\triangleright_E$  we obtain the derivation (4) with which we started. Since at each of the two steps there was only a single possibility to reduce the derivation, we are caught in a loop. This loop is not only a feature of the particular derivation (4). Ekman demonstrated that in the formulation of minimal logic considered, there is no derivation of absurdity from  $A \rightarrow \neg A$  and  $\neg A \rightarrow A$ , which is normal with respect to  $\triangleright_{\rightarrow}$  and  $\triangleright_E$ .

The instance of Ekman's reduction (3) that is used in Ekman's derivation (4)

$$\frac{\frac{A \rightarrow \neg A \quad \frac{\neg A \rightarrow A \quad \neg A}{A} (\rightarrow E)}{\neg A} (\rightarrow E)}{\mathcal{D}} \triangleright_E \frac{\mathcal{D}}{\neg A} \quad (5)$$

can be viewed as a translation of the corresponding instance of the  $\in$ -reduction (1) used in the derivation of Russell's paradox (2):

$$\begin{array}{ccc}
 \mathcal{D} & & \mathcal{D} \\
 \frac{\neg\lambda}{\lambda} (\in I) & \triangleright_{\in} & \neg\lambda \\
 \frac{\lambda}{\neg\lambda} (\in E) & & 
 \end{array} \tag{6}$$

The difference between (5) and (6) consists only in the fact that the redundancy is in one case generated by id est inferences, whereas in Ekman's case it is mimicked in propositional logic by applications of modus ponens. The major premise of modus ponens represents the rule applied in id est inferences. As Ekman puts it:

Whatever motivation we have for [the instance (6) of  $\in$ -reduction  $\triangleright_{\in}$ ] this motivation also applies to [the instance (5) of Ekman's reduction  $\triangleright_E$ ] since the two reductions, from an informal point of view, are one and the same, but expressed using two different formal systems. ([8, p. 148], [9, p. 78])

Given this observation, paradoxical derivations can be analyzed as consisting of an extralogical construction which is plugged into a portion of purely propositional reasoning. The extralogical part is constituted by id est inferences which allows one to pass over, for some specific  $\lambda$ , from  $\neg\lambda$  to  $\lambda$  and back. The logical part consists of the derivation (4) of absurdity  $\perp$  from  $\neg A \rightarrow A$  and  $A \rightarrow \neg A$ , for an unspecific (i.e., for all)  $A$ . Ekman's paradox would thus show that loops are not a feature of the extralogical part, but of the logical part of paradoxical derivations. The looping feature would not depend on the possibility to move, for a certain  $\lambda$ , from  $\lambda$  to  $\neg\lambda$  and vice versa, but that we can move, for any formula  $A$ , from  $A \leftrightarrow \neg A$  to absurdity.<sup>2</sup>

We do not take this to be the right conclusion to be drawn from the phenomenon observed by Ekman. Rather, we take Ekman's paradox to push the question of when a certain reduction counts as acceptable: whether a derivation is normal depends on the collection of reductions adopted, and hence Tennant's criterion requires particular attention in what should be taken to be a good reduction. In particular, Ekman's phenomenon shows that on a too loose notion of reduction, one obtains a too coarse criterion of paradoxicality.

Before presenting substantial reasons for denying the goodness of Ekman's reduction, we would like to stress the fact that the problem of choosing the collection of reductions is crucial also to avoid the converse problem, namely, of a too-narrow criterion for paradoxicality.

#### 4 Paradoxes and Classical Logic

Rogerson [13] criticizes Tennant's criterion in that it fails to detect a paradox when there is one. In particular she considers a formulation of Curry's paradox in classical logic and observes that the derivation fails to display the loopy feature called for by the Prawitz–Tennant analysis. We consider a slight variation of Rogerson's proof based on Russell's rather than Curry's paradox.

In the presence of the classical rule of *reductio ad absurdum*

$$\begin{array}{c}
 [\neg A] \\
 \frac{}{A} \text{ (RAA)}
 \end{array}$$

the derivation of Russell’s paradox (2) can be recast in a more symmetric fashion:<sup>3</sup>

$$\begin{array}{c}
 \frac{\frac{1}{\lambda} (\in E)}{\neg\lambda} \quad \frac{1}{\lambda} (\rightarrow E)}{\perp} (\rightarrow I)(1) \quad \frac{\frac{1}{\neg\lambda} (\in I)}{\lambda} (\rightarrow E)}{\perp} (RAA) (1) \\
 \frac{\perp}{\neg\lambda} (\rightarrow E)
 \end{array} \tag{7}$$

This derivation can be reduced by an application of implication reduction  $\triangleright_{\rightarrow}$  to the following:

$$\begin{array}{c}
 \frac{\frac{1}{\neg\lambda} (\in I)}{\lambda} (\rightarrow E) \quad \frac{\frac{1}{\neg\lambda} (\in I)}{\lambda} (\rightarrow E)}{\perp} (RAA) (1) \\
 \frac{\frac{\lambda}{\neg\lambda} (\in E)}{\perp} (\rightarrow E)
 \end{array}$$

According to Rogerson, this derivation cannot be further reduced:<sup>4</sup>

No standard reduction steps given by Prawitz in [11] straightforwardly apply in this case as the use of the  $\lambda$  operator insulates the formulas from the normalization process. It seems plausible to conclude that this proof does not reduce to a normal form and does not generate a non-terminating reduction sequence in the sense of Tennant in [18] or [19]. Thus, Tennant’s criterion for paradoxicality does not apply here. (This is not to say that it is inconceivable that someone might be able to define a reduction step applicable in this case that would induce a non-terminating reduction sequence.) ([13, p. 174])

Although it is true that no standard reduction step given by Prawitz in [11] applies to this derivation, it is also well known that the normalization strategy for classical logic devised there applies only to language fragments for which the application of (RAA) can be restricted to atomic conclusions. In richer languages, for example in languages containing disjunction and existential quantification, the conclusion of (RAA) cannot be restricted without loss of generality to atomic formulas, and in order for normal derivations to enjoy the subformula property a further (family of) reduction(s) has to be considered. This new reduction is based on the idea that the conclusion of an application of (RAA) which is also the major premise of an elimination rule counts as a redundancy to be eliminated. The reduction, proposed by Stålmarck [16], can be depicted schematically as follows:

$$\begin{array}{ccc}
 \frac{\frac{n}{\neg A} \quad \mathcal{D}}{\frac{\perp}{A} (RAA) (n)} \quad \overline{\mathcal{D}} (\dagger E)}{B} & \triangleright_{RAA} & \frac{\frac{n}{\neg B} \quad \frac{m}{A} \overline{\mathcal{D}} (\dagger E)}{B} (\dagger E)}{\frac{\perp}{\neg A} (\rightarrow I)(m)} \quad \mathcal{D} \\
 & & \frac{\perp}{B} (RAA) (n)
 \end{array}$$

where  $(\dagger E)$  stands for an application of an elimination rule for some connective  $\dagger$  belonging to the language fragment under consideration and  $\overline{\mathcal{D}}$  stands for the (possibly empty) list of derivations of the minor premises of the application of  $(\dagger E)$ .

In the language of naive set theory, the presence of the operators for the formation of set terms jeopardizes the notion of atomic sentence. Thus, a redundant conclusion of (RAA) is not always a nonatomic formula, but more generally any formula which can act as the major premise of an elimination rule. This makes it plausible to let, in the scheme for reduction proposed by Stålmårck,  $\uparrow E$  range over ( $\in I$ ) as well. Once this is done, Rogerson's derivation can be further reduced, and the derivation after some steps reduces back to itself.<sup>5</sup> Tennant formulated his criterion for paradoxicality with an emphasis on intuitionistic logic, by claiming that a paradoxical sentence is one governed by *id est* inferences such that, in the extension of intuitionistic logic obtained by this addition, there are derivations of  $\perp$  that fail to normalize. As observed by Rogerson, the choice of intuitionistic logic is certainly motivated by the will of showing that nonconstructive principles of reasoning do not play any significant role in the phenomenon of paradoxes. However, part of the reason for this choice is also the fact that the criterion for paradoxicality is formulated in terms of normalization, and intuitionistic logic (in its usual formulation at least) is well behaved with respect to normalization. Given the crucial role played by normalization (not only from the formal, but also from the conceptual point of view, as stressed by Tennant in the quote at the end of Section 2), the "base" system relative to which the nonnormalizability effects of *id est* inference is to be tested must enjoy normalization.

Tennant may be wrong in restricting the attention to intuitionistic logic, but we do not believe that extending the criterion beyond this logic is as problematic as Rogerson claims. For the case of classical logic, the above observations are sufficient to show that on a proper account of normalization for classical logic, Russell's (and Curry's paradox as well) display the looping effect called for by Prawitz and Tennant's analysis. Rogerson hints at other possible counterexamples, but, provided the logical frameworks in the background can be given a proper proof-theoretic presentation, Tennant's criterion should always be applicable. In fact, if any derivation in the "base" system reduces to a normal one, and if normal derivations enjoy the subformula property, then the derivation of absurdity in the system extended with the *id est* inferences cannot normalize. This holds at least when the *id est* inferences display a certain symmetry, for instance, by being introduction and elimination rules for a certain expression equipped with a reduction to get rid of the redundancies constituted by consecutive applications of introduction and elimination rules (for a discussion see [20]).

## 5 Paradoxes and Reduction

We now turn back to the original question posed at the end of Section 3, namely, whether the reduction proposed by Ekman should be taken for good. In almost all presentations of natural deduction, reductions are presented as means to get rid of redundancies within proofs. This is also the background of Tennant's analysis, who writes:

The reduction procedures for the logical operators are designed to eliminate such unnecessary detours within proofs.

So are other abbreviatory procedures  $\sigma$ , which have the general form of 'shrinking' to a single occurrence of  $A$ , any logically circular segments of branches (within the proof) of the form shown below to the left:

$$\begin{array}{c}
 \frac{A}{B_1} \\
 \vdots \\
 \frac{B_n}{A}
 \end{array}
 \triangleright_{\sigma}
 A$$

One thereby identifies the top occurrence of  $A$  with the bottom occurrence of  $A$ , and gets rid of the intervening occurrences of  $B_1, \dots, B_n$ , that form the filling of this unwanted sandwich. Logically, one should live by bread alone. ([19], pp. 199–200)

Given this, Tennant should have nothing to object against the reduction  $\triangleright_E$  proposed by Ekman as it is a variant of  $\triangleright_{\sigma}$ . However, the understanding of reduction as “abbreviatory procedures” is not the only possible one. We actually claim that this understanding is not appropriate for meaning-theoretical investigations and take Ekman’s paradox to be a striking phenomenon that points to this fact.

From a semantical standpoint<sup>6</sup> proofs may be viewed as abstract entities linguistically represented by natural deduction derivations. Reduction procedures for derivations can then be viewed as yielding a criterion of identity between proofs (see [12, Section I.3.5.6]) in the following sense: the reflexive, symmetric, and transitive closure of the relation of one-step reducibility clearly induces an equivalence relation between the derivations of a logical system, and derivations equivalent in this sense are considered to represent the same proof. For what follows, only this identity criterion is relevant, not the exact nature of “proofs” beyond this. For simplicity, proofs might, for example, be considered to be equivalence classes with respect to equivalence of derivations, though, in this context, the most natural understanding of proofs is the (informal) one provided by the Brouwer–Heyting–Kolmogorov interpretation of intuitionistic logical constants.

A typical example of two derivations of the same formula which represent two distinct proofs of it is this:

$$\begin{array}{c}
 \frac{\frac{1}{A}}{A \rightarrow A} (\rightarrow I)(1)}{A \rightarrow (A \rightarrow A)} (\rightarrow I)
 \end{array}
 \qquad
 \begin{array}{c}
 \frac{\frac{1}{A}}{A \rightarrow A} (\rightarrow I)}{A \rightarrow (A \rightarrow A)} (\rightarrow I)(1)
 \end{array}$$

In the two derivations the assumption is discharged at different places, which is intuitively a reason to consider them to be two ways of establishing the formula  $A \rightarrow (A \rightarrow A)$ , namely, either as an instance of  $A \rightarrow (B \rightarrow A)$  or as an instance of  $B \rightarrow (A \rightarrow A)$  (see Došen [4]).

On the standard reductions, the two derivations in fact do belong to two different equivalence classes induced by the reflexive, symmetric, and transitive closure of reducibility. This is a consequence of the fact that both are in normal form and of a property of the reduction system based on implication reduction, namely, the Church–Rosser property (also called “confluence”). According to it, if one derivation reduces (in a number of steps) to two distinct derivations, then there should be a third one to which the latter two both reduce (in some finite numbers of steps). An immediate consequence of this is that two different derivations in normal form (thus two derivations which do not reduce further to the same derivation) can never be obtained by reducing some derivation. In other words, there is no chain of reductions which connects the two derivations, thus they belong to different equivalence classes.

The above example thus shows that identity of proofs is not trivial (given the standard reductions). A natural requirement for the addition of a new reduction could be that of not trivializing identity of proof, in the sense that it should always be possible to exhibit two derivations of the same conclusion belonging to two distinct equivalence classes. If this requirement is not met, proof-theoretic semantics would collapse to truth-functional semantics. For every sentence there would be either a (single) proof or there would be no proof at all.

It is actually known that any reduction extending the equivalence relation induced by the reduction for implication and the following expansion:

$$\begin{array}{c} \mathcal{D} \\ A \rightarrow B \end{array} \triangleright_{\rightarrow\text{-exp}} \frac{\frac{\mathcal{D}}{A \rightarrow B} \quad \frac{1}{A} (\rightarrow E)}{B} (\rightarrow I)(1)$$

trivializes the identity of proofs in the implicational fragment of intuitionistic logic (see Došen [6], Widebäck [22]).<sup>7</sup>

However, we will show that Ekman's reduction is sufficient to trivialize the identity of proofs induced by implication reduction alone. On such an understanding, the notion of reduction is much narrower than the one arising from taking reductions as "abbreviation procedures." On this narrower conception, Ekman's alleged reduction turns out to be no reduction at all.

Although the notion of identity of proof is quite established in general and categorical proof theory (see [2]–[4], [7]) as well as in investigation on the lambda calculus, it is usually disregarded in presentations of natural deduction. We therefore discuss at some length a simple counterexample vindicating Ekman's reduction as inappropriate, with the hope of stressing the relevance of these formal results for philosophically informed proof-theory.

To begin with, instead of (3) we actually consider Ekman's reduction  $\triangleright_E$  in the more general form

$$\frac{\frac{\mathcal{D}''}{B \rightarrow A} \quad \frac{\frac{\mathcal{D}'}{A \rightarrow B} \quad A}{B} (\rightarrow E)}{A} (\rightarrow E) \triangleright_E^* \frac{\mathcal{D}}{A} \tag{8}$$

That is, we allow for  $A \rightarrow B$  and  $B \rightarrow A$  to be obtained by derivations  $\mathcal{D}'$  and  $\mathcal{D}''$ . This means that we assume, as it is natural to do, that Ekman's reduction is closed under substitution of derivations for open assumptions. In Section 6 we show that even without this generalization a corresponding counterexample can be given.

For simplicity of exposition, we consider a language containing conjunction. A corresponding, but less well-readable example could be given in the implicational language considered so far. The rules and reductions associated to conjunction are the following:

$$\begin{array}{ccc}
 \frac{\mathcal{D}_1 \quad \mathcal{D}_2}{\frac{A \quad B}{A \wedge B} (\wedge I)} & & \frac{\mathcal{D}_1 \quad \mathcal{D}_2}{\frac{A \wedge B}{A} (\wedge E1)} \quad \frac{\mathcal{D}_1 \quad \mathcal{D}_2}{\frac{A \wedge B}{B} (\wedge E2)} \\
 \frac{\frac{A \quad B}{A \wedge B} (\wedge I)}{A} (\wedge E1) & \triangleright_{\wedge 1} & \mathcal{D}_1 \quad \frac{A}{A} \\
 & & \frac{\frac{A \quad B}{A \wedge B} (\wedge I)}{\frac{A \wedge B}{B} (\wedge E2)} \triangleright_{\wedge 2} \mathcal{D}_2 \quad B
 \end{array}$$

Consider now the formulas  $A \wedge A$  and  $A$  and the following proofs of their mutual implications:<sup>8</sup>

$$\frac{\frac{A \wedge A}{A} (\wedge E1)}{(A \wedge A) \rightarrow A} (\rightarrow I)(1) \qquad \frac{\frac{\frac{A \quad A}{A \wedge A} (\wedge I)}{A \rightarrow (A \wedge A)} (\rightarrow I)(1)}$$

Given an arbitrary derivation  $\mathcal{D}$  of  $A \wedge A$ , consider the following derivation  $\mathcal{D}'$ :

$$\mathcal{D}' = \left\{ \frac{\frac{\frac{\frac{A \quad A}{A \wedge A} (\wedge I)}{A \rightarrow (A \wedge A)} (\rightarrow I)(1)}{A \wedge A} (\rightarrow E) \quad \frac{\frac{\frac{\frac{A \wedge A}{A} (\wedge E1)}{(A \wedge A) \rightarrow A} (\rightarrow I)(2)}{A} (\rightarrow E) \quad \mathcal{D}}{A \wedge A} (\rightarrow E) \right.$$

Ekman's (starred) reduction enables the performance of the following reduction step:

$$\frac{\mathcal{D}'}{A \wedge A} \triangleright \frac{\mathcal{D}}{A \wedge A} \quad (9)$$

Since in  $\mathcal{D}'$  both  $(A \wedge A) \rightarrow A$  and  $A \rightarrow (A \wedge A)$  are maximum formulas, we also have the following reduction, which is obtained by applying  $\triangleright \rightarrow$  twice:

$$\frac{\mathcal{D}'}{A \wedge A} \triangleright \frac{\frac{\frac{\mathcal{D}}{A \wedge A} (\wedge E1) \quad \frac{\mathcal{D}}{A \wedge A} (\wedge E1)}{A \wedge A} (\wedge I)}{A \wedge A} \quad (10)$$

Now suppose that  $\mathcal{D}$  has the form

$$\frac{\mathcal{D}_1 \quad \mathcal{D}_2}{\frac{A \quad A}{A \wedge A} (\wedge I)}$$

for some arbitrary derivations  $\mathcal{D}_1$  and  $\mathcal{D}_2$  of  $A$ .

Then (9) and (10) give us the reductions

$$\frac{\mathcal{D}'}{A \wedge A} \triangleright \frac{\frac{\mathcal{D}_1 \quad \mathcal{D}_2}{\frac{A \quad A}{A \wedge A} (\wedge I)}}{A \wedge A} \quad (11)$$

and

$$\frac{\mathcal{D}'}{A \wedge A} \triangleright \frac{\frac{\frac{\frac{\mathcal{D}_1 \quad \mathcal{D}_2}{\frac{A \quad A}{A \wedge A} (\wedge I)}{A \wedge A} (\wedge E1)}{A} (\wedge I)}{A \wedge A} (\wedge I) \quad \frac{\frac{\frac{\mathcal{D}_1 \quad \mathcal{D}_2}{\frac{A \quad A}{A \wedge A} (\wedge I)}{A \wedge A} (\wedge E1)}{A} (\wedge I)}{A \wedge A} (\wedge I)}{A \wedge A} (\wedge I) \triangleright_{\wedge 1} \frac{\frac{\mathcal{D}_1 \quad \mathcal{D}_1}{\frac{A \quad A}{A \wedge A} (\wedge I)}}{A \wedge A} \quad (12)$$

respectively. Therefore the adoption of Ekman's (starred) reduction implies that the following two derivations

$$\frac{\mathcal{D}_1 \quad \mathcal{D}_1}{\frac{A \quad A}{A \wedge A}} \qquad \frac{\mathcal{D}_1 \quad \mathcal{D}_2}{\frac{A \quad A}{A \wedge A}}$$

are equivalent with respect to reducibility, that is, that they represent the same proof. This means that also the following two derivations, which result from the previous ones by extending each of them with an application of ( $\wedge$ E2):

$$\begin{array}{c} \mathcal{D}_1 \quad \mathcal{D}_1 \\ \frac{A \quad A}{A \wedge A} \\ \frac{A \wedge A}{A} \wedge\text{E2} \end{array} \qquad \begin{array}{c} \mathcal{D}_1 \quad \mathcal{D}_2 \\ \frac{A \quad A}{A \wedge A} \\ \frac{A \wedge A}{A} \wedge\text{E2} \end{array}$$

are equivalent with respect to reducibility. If we apply to each of them the reduction  $\triangleright_{\wedge 2}$ , we obtain the two derivations:

$$\begin{array}{c} \mathcal{D}_1 \\ A \end{array} \qquad \begin{array}{c} \mathcal{D}_2 \\ A \end{array}$$

meaning that  $\mathcal{D}_1$  and  $\mathcal{D}_2$  are equivalent with respect to reducibility. Therefore by using Ekman's (starred) reduction in addition to the standard reductions, we can show that any two derivations  $\mathcal{D}_1$  and  $\mathcal{D}_2$  of a formula  $A$  represent the same proof. As argued above, this is a devastating consequence. If we require that reductions do not trivialize the notion of identity of proofs, Ekman's transformation does not count as a reduction.

We thus propose to amend Tennant's paradoxicality criterion by requiring that reductions do not trivialize identity of proofs. In this way the problem posed by Ekman's result for the Prawitz–Tennant test for paradoxicality is resolved in that Ekman's derivation (4) now fails to count as a paradox.

### 6 The Issue of Substitution

In defense of Ekman, one might argue that he formulates his reduction with  $A \rightarrow B$  and  $B \rightarrow A$  in assumption position according to (3), whereas to show that his reduction trivializes identity of proofs we considered the generalized form (8). This generalized form is closed under substitution of derivations for open assumptions. Now it is hard to make sense of a notion of reduction *not* closed under substitution in this sense. However, the following example demonstrates our trivialization result even without this assumption, on the basis of Ekman's reduction in the form (3).

The following derivation (circled is an Ekman redundant formula)

$$\begin{array}{c} \mathcal{D}_1 \quad \mathcal{D}_2 \\ \frac{A \wedge A \xrightarrow{2} A \quad \frac{A \quad A}{A \wedge A} (\wedge\text{I})}{\frac{A \wedge A}{A} (\rightarrow\text{E})} \\ \frac{A \xrightarrow{1} (A \wedge A) \quad \textcircled{A}}{\frac{A \wedge A}{(A \rightarrow (A \wedge A)) \rightarrow (A \wedge A)} (\rightarrow\text{I}) (1)} (\rightarrow\text{E}) \\ \frac{\frac{A \wedge A}{(A \rightarrow (A \wedge A)) \rightarrow (A \wedge A)} (\rightarrow\text{I}) (1) \quad \frac{A \wedge A}{(A \rightarrow (A \wedge A)) \rightarrow (A \wedge A)} (\rightarrow\text{I}) (2)}{\frac{A \wedge A}{(A \rightarrow (A \wedge A)) \rightarrow (A \wedge A)} (\rightarrow\text{I}) (2)} (\rightarrow\text{I}) (3) \\ \frac{\frac{A \wedge A}{(A \rightarrow (A \wedge A)) \rightarrow (A \wedge A)} (\rightarrow\text{I}) (2) \quad \frac{A \wedge A}{(A \rightarrow (A \wedge A)) \rightarrow (A \wedge A)} (\rightarrow\text{I}) (3)}{\frac{A \wedge A}{(A \rightarrow (A \wedge A)) \rightarrow (A \wedge A)} (\rightarrow\text{I}) (2)} (\rightarrow\text{E}) \quad \frac{\frac{A \wedge A}{(A \rightarrow (A \wedge A)) \rightarrow (A \wedge A)} (\rightarrow\text{I}) (3) \quad \frac{A \wedge A}{(A \rightarrow (A \wedge A)) \rightarrow (A \wedge A)} (\rightarrow\text{I}) (4)}{\frac{A \wedge A}{(A \rightarrow (A \wedge A)) \rightarrow (A \wedge A)} (\rightarrow\text{I}) (4)} (\rightarrow\text{E}) \\ \frac{\frac{A \wedge A}{(A \rightarrow (A \wedge A)) \rightarrow (A \wedge A)} (\rightarrow\text{I}) (2)}{A \wedge A} (\rightarrow\text{E}) \end{array}$$

reduces via Ekman's reduction  $\triangleright_E$  to the following (in which the applications of  $(\rightarrow I)$  without numeral do not discharge anything):

$$\frac{\frac{\frac{\mathcal{D}_1 \quad \mathcal{D}_2}{A \quad A}}{A \wedge A} (\rightarrow I)}{(A \rightarrow (A \wedge A)) \rightarrow (A \wedge A)} (\rightarrow I) \quad \frac{\frac{A \wedge A}{A} \wedge E1}{(A \wedge A) \rightarrow A} (\rightarrow I)(3) \quad \frac{\frac{A \quad A}{A \wedge A}}{A \rightarrow (A \wedge A)} (\rightarrow I)(4)}{\frac{(A \rightarrow (A \wedge A)) \rightarrow (A \wedge A)}{A \wedge A}} (\rightarrow I)$$

which in turn reduces via two applications of  $\triangleright_{\rightarrow}$  to

$$\frac{\mathcal{D}_1 \quad \mathcal{D}_2}{A \quad A} \\ A \wedge A$$

On the other hand, by applying first  $\triangleright_{\rightarrow}$  (for four times) and then  $\triangleright_{\wedge 1}$  (twice) to the first derivation one obtains

$$\frac{\mathcal{D}_1 \quad \mathcal{D}_1}{A \quad A} \\ A \wedge A$$

In other words, we have that the two derivations

$$\frac{\mathcal{D}_1 \quad \mathcal{D}_2}{A \quad A} \quad \frac{\mathcal{D}_1 \quad \mathcal{D}_1}{A \quad A} \\ A \wedge A \quad A \wedge A$$

are equivalent with respect to reducibility even when one adopts the restricted form of Ekman's reduction. Thus the restricted form of Ekman's reduction is sufficient to trivialize identity of proofs (by the argument given at the end of Section 5).

## Outlook

Ekman's "paradox" not only teaches us the importance of an appropriate notion of reduction for formulating a proof-theoretic criterion of paradoxicality, but also tells us something about the nature of paradoxical sentences. What triggers a genuine paradox is not simply the assumption that a sentence is *interderivable* with its own negation, as in Ekman's derivation (4). A genuine paradox is a sentence  $A$  such that there are proofs from  $A$  to  $\neg A$  and from  $\neg A$  to  $A$  that composed with each other give us the identity proof  $A$  (i.e., the formula  $A$  considered a proof of  $A$  from  $A$ ). Such a notion, which is stricter than just interderivability, and which is well known in general (in particular categorial) proof theory as *isomorphism* of formulas (see Došen [5]), must be given a much more prominent role in proof-theoretic semantics than it currently enjoys.

## Notes

1. Instead of looping reduction sequences one can, more generally, consider non-terminating reduction sequences, which covers paradoxes such as Yablo's (see Tennant, [19]). In the following, we will throughout speak of the *looping feature* of paradoxical derivations, keeping in mind that "nontermination" of reduction sequences is the appropriate more general term.

2. Ekman [8] also investigated more general forms of reductions in propositional logic related to Crabbé's [1] example (see Sundholm, [17]) of a nonnormalizing derivation in set theory based on Zermelo's subset axiom rather than the unrestricted comprehension rules. This was one of the starting points of Hallnäs's [10] work, on which Ekman's [8] work, whose main subject is normalization in set theory, builds.
3. By "symmetric" we mean that the two immediate subderivations of (7) can be obtained from each other by replacing occurrences of  $\lambda$  with occurrences of  $\neg\lambda$  (and vice versa) and by switching the order of the premises of ( $\rightarrow$  E).
4. Although Rogerson speaks of a derivation based on Curry's paradox, the derivation we discuss can be viewed as obtained from the last derivation in [13, p. 174] by replacing  $a \in a$  with  $\lambda$  and  $p$  with  $\perp$ , and moreover by (i) removing in both main subderivations redundant applications of (RAA), i.e. applications allowing one to pass from  $\perp$  to  $\perp$  with no discharge; (ii) replacing in both subderivations the pattern 
$$\frac{\perp}{\neg\lambda} \text{ (1)}$$
 with just  $\neg\lambda$ . The considerations in this section apply exactly to Rogerson's original derivation as well.
5. Provided that, as usual, one also reduces redundant applications of (RAA) (see endnote 4 above). Otherwise, one ends up with the more general kind of nontermination mentioned in endnote 2.
6. In the sense of "proof-theoretic semantics," see [15].
7. This result is what in the typed lambda calculus corresponds to a corollary of Böhm's theorem for the untyped lambda calculus.
8. A substantially equivalent counterexample in the implicational fragment can be obtained using the formulas  $A \rightarrow (A \rightarrow B)$  and  $A \rightarrow B$ .

*Note added in proof.* We have argued that Ekman's reduction (3), as a general reduction, trivializes the notion of identity of proofs. However, to show that Ekman's derivation (4) is paradoxical, only an instance of (3) is used, in which  $A$  is a negated formula. Now on standard accounts of identity of proofs as dealt with in categorial proof theory of intuitionistic logic, there is only one single proof of  $\neg A$ , if there is a proof of  $\neg A$  at all; that is, all proofs of negated formulas are identical (see Došen [4]). This could be seen as a justification of the relevant instance of Ekman's reduction, and thus as reinstating Ekman's result as a genuine paradox. However, the identification of all proofs of negated formulas relies essentially on the conversions associated with the ex-falso rule. As in Ekman's derivation (4) the negated formula  $A \rightarrow \perp$  is just treated like an implication  $A \rightarrow C$  for an arbitrary  $C$ , without the absurdity rule for  $\perp$  being invoked at any place (i.e., (4) is a derivation in minimal logic), we would then rather consider Ekman's paradox as an argument against the idea that there can be only a single proof of a negation. This would put into question the status of absurdity as what in categorial proof theory is called an *initial object*. From that point of view, Ekman's paradox not only calls for the consideration of identity of proofs within the field of general proof theory, but also for an alternative theory of absurdity in categorial proof theory, which would have many repercussions including the conceptual role of  $\eta$  conversion.

## References

- [1] Crabbé, M., “Non-normalisation de ZF/Counterexample to normalisation for ZF,” Proof Theory Symposium, Kiel 1974, <http://www.logic-center.be/Publications/Bibliotheque/contreexemple.pdf>. 579
- [2] Došen, K., “Logical consequence: A turn in style,” pp. 289–311 in *Logic and Scientific Methods: Volume One of the Tenth International Congress of Logic, Methodology and Philosophy of Science, Florence, August 1995*, edited by M. L. Dalla Chiara, K. Doets, D. Mundici, and J. van Benthem, Kluwer, Dordrecht, 1997. MR 1797113. 575
- [3] Došen, K., *Cut Elimination in Categories*, Springer, Berlin, 2000. MR 1889968. DOI 10.1007/978-94-017-1207-1.
- [4] Došen, K., “Identity of proofs based on normalization and generality,” *Bulletin of Symbolic Logic*, vol. 9 (2003), pp. 477–503. Zbl 1058.03061. MR 2020424. DOI 10.2178/bsl/1067620091. 574, 575, 579
- [5] Došen, K., “Models of deduction,” *Synthese*, vol. 148 (2006), pp. 639–57. Zbl 1103.03052. MR 2228440. DOI 10.1007/s11229-004-6292-5. 578
- [6] Došen, K., and Z. Petrić, “The typed Böhmer theorem,” *Electronic Notes in Theoretical Computer Science*, vol. 50 (2001), pp. 117–29. 575
- [7] Došen, K., and Z. Petrić, *Proof-Theoretical Coherence*, College Publications, London, 2004. 575
- [8] Ekman, J., *Normal Proofs in Set Theory*, Ph.D. dissertation, University of Göteborg, Gotenberg, Germany, 1994. 567, 570, 571, 579
- [9] Ekman, J., “Propositions in propositional logic provable only by indirect proofs,” *Mathematical Logic Quarterly*, vol. 44 (1998), pp. 69–91. Zbl 0906.03056. MR 1601903. DOI 10.1002/malq.19980440105. 567, 570, 571
- [10] Hallnäs, L., “On Normalization of Proofs in Set Theory,” Ph.D. thesis, University of Göteborg, 1983, *Dissertationes Mathematicae*, vol. 261, Polska Akademia Nauk, Warszawa, 1988. 579
- [11] Prawitz, D., *Natural Deduction: A Proof-Theoretical Study*, Almqvist & Wiksell, Stockholm, 1965. Reprinted Mineola, NY: Dover Publications, 2006. MR 0193005. 567, 568, 572
- [12] Prawitz, D., “Ideas and results in proof theory,” pp. 235–308 in *Proceedings of the Second Scandinavian Logic Symposium (Oslo 1970)*, edited by J. E. Fenstad, North-Holland, Amsterdam, 1971. MR 0387024. 574
- [13] Rogerson, S., “Natural deduction and Curry’s paradox,” *Journal of Philosophical Logic*, vol. 36 (2007), pp. 155–79. Zbl 1119.03013. MR 2303206. DOI 10.1007/s10992-006-9032-0. 571, 572, 579
- [14] Schroeder-Heister, P., “Proof-theoretic semantics, self-contradiction, and the format of deductive reasoning,” *Topoi*, vol. 31 (2012), pp. 77–85. Zbl 1308.03028. MR 2926608. DOI 10.1007/s11245-012-9119-x. 569
- [15] Schroeder-Heister, P., *Proof-Theoretic Semantics*, *Stanford Encyclopedia of Philosophy*, edited by E.N. Zalta, [plato.stanford.edu](http://plato.stanford.edu), Stanford, 2012. 579
- [16] Stålmärck, G., “Normalization theorems for full first order classical natural deduction,” *The Journal of Symbolic Logic*, vol. 56 (1991), pp. 129–49. MR 1131736. DOI 10.2307/2274910. 572
- [17] Sundholm, G., “Review of Michael Dummett, elements of intuitionism,” *Theoria*, vol. 45 (1979), pp. 90–5. 579
- [18] Tennant, N., “Proof and paradox,” *Dialectica*, vol. 36 (1982), pp. 265–96. Zbl 0495.03036. MR 0720601. DOI 10.1111/j.1746-8361.1982.tb00820.x. 567, 569, 572
- [19] Tennant, N., “On paradox without self-reference,” *Analysis*, vol. 55 (1995), pp. 199–207. Zbl 0943.03573. MR 1351564. DOI 10.2307/3328581. 567, 572, 574, 578

- [20] Tranchini, L., "Harmonising harmony," *Review of Symbolic Logic*, vol. 8 (2015), pp. 411–23. [MR 3388728](#). [DOI 10.1017/S1755020315000179](#). 573
- [21] Tranchini, L., "Proof-theoretic semantics, paradoxes and the distinction between sense and denotation," *Journal of Logic and Computation*, vol. 26 (2016), pp. 495–512. [MR 3516053](#). [DOI 10.1093/logcom/exu028](#). 569
- [22] Widebäck, F., *Identity of Proofs*, Almqvist & Wiksell, Stockholm, 2001. 575

### Acknowledgments

The first author is deeply indebted to Lars Hallnäs, who in the early 1990s drew his attention to Ekman's results and pointed out to him their conceptual significance. The final version of this paper profited heavily from extensive discussions of both authors with Kosta Došen, Jean-Baptiste Joinet, Göran Sundholm, and Zoran Petrić. We are also grateful to two anonymous reviewers for their helpful comments and suggestions. This work was carried out within the French-German ANR-DFG projects 'Hypothetical Reasoning—Its Proof-Theoretic Analysis' (DFG Schr 275/16-2) (Schroeder-Heister) and "Beyond Logic" (Schr 275/17-1), and the project "Non-Transitive Logics" financed by the Ministerio de Economía y Competitividad, Government of Spain (FFI2013-46451-P) and "Logical Consequence and Paradoxical Reasoning" (Tr1112/3-1) (Tranchini).

Schroeder-Heister  
Department of Computer Science  
University of Tübingen  
Tübingen  
Germany  
[psh@uni-tuebingen.de](mailto:psh@uni-tuebingen.de)  
<http://ls.inf.uni-tuebingen.de/>

Tranchini  
Department of Computer Science  
University of Tübingen  
Tübingen  
Germany  
[luca.tranchini@gmail.com](mailto:luca.tranchini@gmail.com)